Volundarhus — lausnir

V=H*P *d/360 (M/12)

52000 = 80000*0,13

52000 = 10400

X = 52000/10400 = 5

Byrja 6000 = 500007x*3 784 = x*0,04*20
6000%0,05*6/12 6000/150800 = x X=784/0,8
= 150 X = 1/35 = 4% X=98(/

/ /
1800 = H*o,16*i/)/ V = 175000%0,024*9/42 | | 6400 = 10000*x*16
1800 = H*0,04 6400/16000 = X
H = 1800/0,04 X=004=4%
H = 45000 /

V 59600*0,009*9/12

=64,8

4$

8,75 =1000*0,435*X

875=2,92

X=3

2700 = X*0,006*6/12

2700 = X*0,003

V =8000*0,05*20

V = 8000

Endir

X =2700/0,003 = 900.000




